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QUESTION 1

Which statement is true about a simple load using external tables?

A. The load can be configured to automatically continue to load if the S-Blade resets or fails.

B. The load can be configured to automatically create a backup file of the table being loaded.

C. The load can be configured to automatically create a duplicate copy of the table being loaded.
D. The load can be configured to automatically remove duplicate rows from the table being loaded.

Correct Answer: A

QUESTION 2

When creating a table, you can specify a column constraint for each individual column of either "NULL" or "NOT NULL".
When column values are later evaluated within a query statement, which of these is true?

A. 0 is equal to null, the empty string ( \W\\') is equal to null.

B. 0 is equal to null, the empty string (\\W\\') is not equal to null.

C. 0 is not equal to null, the empty string (\\\\') is equal to null.

D. 0 is not equal to null, the empty string (\\'\\') is not equal to null.

Correct Answer: D

QUESTION 3

Which option does NOT trigger a HardwareNeedsAttention event?

A. A power supply has failed.

B. A switch has been rebooted.

C. A SAS cable fails or is disconnected.

D. A chassis or fabric switch port is in a down state for longer than the defined threshold.

Correct Answer: A

QUESTION 4

What two characteristics can be changed when using the CREATE TABLE AS (CTAS) statement to copy TableA to
TableB? (Choose two.)

A. The views on TableA.
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B. The privileges on TableA.

C. The distribution key of TableB.

D. The materialized views on TableB.

E. The order of the data stored in TableB.

Correct Answer: CE

QUESTION 5

A stored procedure returning one value is created, which two methods can be used to execute the procedure? (Choose
two.)

A. Using the EXECUTE command.

B. Using the SELECT statement within a FROM clause.

C. Using the SELECT statement within a HAVING clause.

D. Using the SELECT statement without a FROM clause.

E. Using the SELECT statement with tables in the FROM clause.

Correct Answer: AD
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